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Set 2

Remember To:

• show the gap from 100 to the 
target number on a number 
line

• jump to 100 by taking 1 off the 
target number’s hundreds digit

900m - 10m = 566cm - 10cm = 

788km - 10km = 490g - 30g = 

900mg - 60mg = 184L - 60L = 

630ml - 90ml = 883s - 90s = 

645mm - 100mm = 675kg - 200kg = 
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Set 2

900m - 10m = 890m 566cm - 10cm = 
556cm

788km - 10km = 
778km

490g - 30g = 460g

900mg - 60mg = 
840mg

184L - 60L = 124L

630ml - 90ml = 
540ml

883s - 90s = 793s

645mm - 100mm = 
545mm

675kg - 200kg = 
475kg

Remember To:

• show the gap from 100 to the 
target number on a number 
line

• jump to 100 by taking 1 off the 
target number’s hundreds digit


